
Desvío o   détournement    
 (proliferante)

1.618^(1/1.618) = 1.0045771591   
      

1,618^(1/1,618) = 1.34635175169 
      

https://www.google.com/search?safe=active&client=ubuntu&hs=Z1g&channel=fs&sxsrf=ACYBGNRxiwynYxWcdgPlIStIXn7mrg-52Q%3A1583047757091&ei=TWRbXsSZBf-YjLsP2q6XoAM&q=1%2C618%5E(1%2F1%2C618)&oq=1%2C618%5E(1%2F1%2C618)&gs_l=psy-ab.12..35i39.93287.101146..105898...2.0..0.105.799.8j1......0....1..gws-wiz.J0m5LvABFqE&ved=0ahUKEwiE9OS54PjnAhV_DGMBHVrXBTQQ4dUDCAo
https://es.wikipedia.org/wiki/D%C3%A9tournement
https://www.google.com/search?client=ubuntu&channel=fs&q=1.618%5E(1%2F1.618)&ie=utf-8&oe=utf-8

